
 73 ТЕСТ по теме ИРРАЦИОНАЛЬНЫЕ УРАВНЕНИЯ И НЕРАВЕНСТВА 

 

Доказать, что уравнение не имеет решений: 

1. ;5)1(142
3223 −=+++− xxxx  Ответ: ∅  

2. ;13436
2 +−=−+− xxxx  Ответ: ∅  

3. ;37164517
22

=−+−+ xxx  Ответ: ∅  

4. .
)4)(11(

5
416

22

++

+
=++−

xx

x
xx  Ответ: ∅  

Решить уравнения: 

5. ;13215
2

=++++− xxx  Ответ: 6,37 21 =−= xx . 

6. ;25126552 +=+++ xxx  Ответ: 2=x . 

7. ;0491 =+−+++− xxxx  Ответ: 0=x . 

8. ;193327
222

++=+++++ xxxxxx  Ответ: 1,2
21

=−= xx . 

9. ;471728 =+−+++++ xxxx  Ответ: 2=x . 

10. ;5287 33 =−++ xx  Ответ: 20,1
21

== xx . 

11. ;)1(1232 333 −=−+ xxx  Ответ: 3,1
21

== xx . 

12. ;41719 33 =++++− xx  Ответ: 0=x . 

13. ;52077 44 =−++ xx  Ответ: 4,61
21

=−= xx . 

14. ;030842478
4 34 3 =−−−++ xx  Ответ: 9=x . 

15. ;1)33)(1()32)(2( 55 =−−+−− xxxx  Ответ: 25717,25717 21 +=−= xx . 

16. ;2
5

3

3

5
77 =

−

+
+

+

−

x

x

x

x
 Ответ: 1=x . 

17. .235727
2

xxxxx −=++++  Ответ: 
144

841
=x . 

18. 176
2

−=+− xx  Ответ: ∅  

19. 022 =++− xx  Ответ: ∅  

20. 353 =−+− xx  Ответ: ∅  

21. 122
1

44 2
−−=

+

−
+

−
x

x

x

x

x
 Ответ:4 

22. 32753 +=+ xx  Ответ:0 

23. 43 −= xx  Ответ:8 

24. 132259
2

−=+− xxx  Ответ:9 

25. 363 =++− xx  Ответ: -6; 3 

26. 1453 =−−− xx  Ответ:3 

27. 6
2020

=
−

+
+

x

x

x

x
 Ответ:12 

28. 65822
222

+−=−++−− xxxxxx  Ответ:2 

29. xxx −=++− 1121  Ответ:2 

30. 1852 63 =+ xx  Ответ:64 
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31. 
6

13

4

75

75

4
63 =

+

+
+

+

+

x

x

x

x
 Ответ:4 

32. 122
12

15
1 +=

+
+ x

x
 Ответ:4 

33. 285545
22

++=++ xxxx  Ответ:-9, 4 

34. 11363
22

=−−−+− xxxx  Ответ:-5/3, 2 

35. 59644
22

=++++− xxxx  Ответ: [-3;2].  

36. 1168143 −=−−++−−+ xxxxx  Ответ: 628 −=x  

37. 45352 =−++ xx  Ответ: 2 

38. 333 223 −=−+ xxx  Ответ: 0 

39. 
( ) ( )

2
24

2244
=

−+−

−−+−−

xx

xxxx
 Ответ: 2; 4 

40. ( )( ) xxxxx 2622222 −=+−+++−  Ответ: 2 

41. 6431
2 +−=−+− xxxx  Ответ: 9 

42. 297 44 =−−+ xx  Ответ: 5 

43. xx
x

x
2152

152

2

=++
+

 Ответ: -1 

44. 5105
22

=+++−+ xxxx              Ответ: 2; - 3      

45.    0723165195 =−−−+− xxx      Ответ: 4 

46. 2
2

5
24

5

2
=

−

−
−

−

−

x

x

x

x
                      Ответ: 

35

178
 

47. 75259
2

+=−+ xxx                     Ответ: 4 

48. )89(3)6(
22

+−=−− xxxxxx          Ответ: 0; 2     

49.  |10|165 −−= xx                       Ответ: 4; 9; 
2

129577 −
      

50. 
6

9

9

1

9

1 −
=

−+
+

−−

x

xxxx

       Ответ: 121 

  

Доказать, что неравенство не имеет решений: 

51. ;3865
4 2

−≤++++ xxx  Ответ:∅ . 

52. ;312211 ++<++++ xxx  Ответ: ∅ . 

53. ;)2(7161
5

9)5(34
2

2

2
+++>−++− x

x
x  Ответ: ∅ . 

54. .12
1

1

1

1
1)(

1

1
22(

2

22

2

2

2
x

xxxx
x

x
x −+<

++
+

+−
++

+
++  Ответ: ∅ . 

 

Решить неравенства: 

55. 32183
2

+>−+ xxx Ответ: (-∞,-6]. 

56. 190
2

−≥−− xx  Ответ: (-∞,-9]∪[10,+∞). 
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57. 21694 2
>+− xx  Ответ: x ∈ (-∞,0)∪(9,+∞). 

58. 1254
2

+<−+ xxx Ответ: x ≥ 1. 

59. 245
2

<+− xx Ответ: x ∈ (0;1]∪[4;5). 

60. 22
2

−≤−− xx  Ответ: x ∈ (4,6] 

61. );4(2)12)(4( +<−+ xxx  Ответ: 







+∞,

2

1
. 

62. ;72223
2

−>− xxx  Ответ: ( ]0,∞− . 

63. ;01135417 ≤+−−+− xxx  Ответ: ∅. 

64. ;32112 −≥−−+ xxx  Ответ: 






 +

15

151615
,3 . 

65. ;1253753
22

>++−++ xxxx . Ответ: ( ] 







−∪−−

3

1
,

3

2
1,2 . 

66. ;325 33 −>++ xx  Ответ: R . 

67. ;262 44 ≥−+− xx  Ответ: [ ]6,2 . 

68. .
3

5
3

3

16
2

−
>−+

−

−

x

x

x

x
 Ответ: ( )+∞,5 . 

69. x

x

x

x

−

+
≤

+

+

5

56

510

56

        Ответ:
;

6

5
−=х

  [0; 5)   

    

70. 72722 <−+− xx            Ответ: [13,5; 18)        

 

71. xxxx 74967)7(
2

−<+−−           Ответ: ( - ∞; 1]U[6; 7) 
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